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1. Assertion (A) - The development of

administrative law in a Welfare
State has made administrative

tribunals a necessity.
Reason (R) — Administrative tribunals ﬁ
2.1

authorities outside the ordinary court system. 2

(1) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are correct and (R) is not the
correct explanation of (A).

(4) (A) is false but (R) is true.

(5) Question not attempted

Which one of the following is not a Quantitative

Method of Policy Evaluation?

(1) Benefit-cost analysis

(2) Organisational issues analysis

(3) Statistical Survey

(4) Cost effectiveness analysis

(5) Question not attempted

- Learning the power of decision in respect;

technical matters to appropriate professional ung

of organisation is called -

(1) Territorial decentralisation

(2) Political decentralisation

(3) Administrative decentralisation

(4) Functional decentralisation

(5) Question not attempted

Which one of the following statement correctly

explains the meaning of Delegated Legislation?

(1) When Executive confers the law making power
to the Parliment.

(2) When Parliament confers the law making
power to the state Legislative Assemblies.

(3) When Parliament confers the law making
power to the Executive.

(4) When Parliament confers the law making
power to the Judiciary.

(5) Question not attempted

« Which of the following is not a reason for @ 5.

development of Administrative Law?
(1) Industrial revolution

(2) Discretion of administrators

(3) Experimental and practical method
(4) Strictness of administrative law

(5) Question not attempted
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10.

11.

Which of the following is not a merit of

Performance Budgeting?

(1) A Diagnostic tool to assess the link between
inputs and performance accomplished

(2) Provides comparative unit costs.

(3) No alternative course of action.

(4) Help to Justify Budget.

(5) Question not attempted

Who has termed Administration Law as an
‘Innovative trend’?

(1) C.F. Strong (2) Ivor Jennings

(3) William A. Robson (4) John Pfiffner

(5) Question not attempted

Which of the following public policy differs from
the others in its nature?

(1) Substantive (2) Capitalisation

(3) Regulatory (4) Distributive

(5) Question not attempted

“The scientific method is one and same in the
branches (of science) and that method is the
method of all logically trained mind; the unity of

7.

8.

all sciences consists alone its methods, not
material.” Who made this statement? 4
e | | I

(1) C.R. Kothari (2) P.V. Young
(3) Karl Pearson (4) Karl Popper
(5) Question not attempted
Assertion (A) — Public administration is extremely
benefited by easy availability of
new tools of communication
following  the information
technology revolution.
Reason (R) - Bureaucracy is enormously
important in  the performance of the
communication function in political system.
(1) (A) is false and (R) is true.
(2) Both (A) and (R) are correct but (R) is not the
correct explanation of (A),
(3) Both (A) and (R) are correct and (R) is correct
explanation of (A).
(4) (A)is true and (R) is false.
(5) Question not attempted

Development that meets the needs of the pm‘ﬂ“-
future "'

without compromising the ability of
generations to meet their own needs is called -
(1) People’s administration

(2) Development Administration

(3) Administrative Development

(4) Sustainable development

(5) Question not attempted
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12. Which country provides for Right to Strike to its 12. g 29 sue fufee daef &1 gsaa @

Civil Servants?

(1) India (2) France

(3) UK (4) USA

(5) Question not attempted - Iy

13. According to Pfiffner, which of the followingisnot 13-

a kind of s1aff services?

(1) General staff (2) Technical staff
(3) Advisory staff (4) Auxiliary staff
(5) Question not attempted

14. Assertion (A) — Good Governance is an attemptto 14

wider the scope of Public
Administration by going beyond
formal government,

Reason (R) - [t moves from a concemn to do
towards a concem to ensure that
things are done.

Select the correct answer by using the code given

below -
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are true and (R) is
explanation of (A).

(3) Both (A) and (R) are true but (R) is not cuma-:':}
explanation of (A).

(4) (A) is false but (R) is true.

(5) Question not attempted

15. Out of the following factors, which is not a 15

similarity between public administration and

private administration?

(1) Public relations

(2) Research and improvement

(3) Accounting, Statistics and Office management
procedures

(4) Public responsibility

(5) Question not attempted

FHR WS Bl 87
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(5) sriiva we
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d Y WeR A WNEd @
fawz &3 o Rwga a0 @1 @
T £

BN (R) — T8 @14 &1 31 o= | 3 o

@1 gftas swam @ fea @
3N IR B
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T e —

(1) (A) we1 & f&g (R) el 2|

(2) (A) o= (R) g1 W& & 3R (R), (A) B 68

] # |
(3) (A) 3% (R) =T |é1 & fF=g (R), (A) B 9
AT e B

(4) (A) Tora & g (R) w81 & |

() areifa e

Freiferftaa # 9 $9w @9 woreE aun fHoi
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(1) it T

(2) SreEn T HEw

(3) Sraram, wifts ok Frfoa wae afmand
(4) et ITvETdeE

(8) arfeiie weA

16. Which of the following statement is not correct 16 Fy=iferfias & 9 wdiaer & weara 3 F=man Ty

regarding supervision”

(1) Substantive supervision is concemned wi
actual work done.
(2) Technical supervision deals with the methodsT .

by which work is done.

(3) Supervision is analogous to inspection.

(4) Supervision is selecting the right person for
each job.

(5) Question not attempted

W Tl 87

(1) mifeaes gddeor 5 18 arafas & | 9w
Bl

(2) Tepsitet gdaE wrd @ @) At § gy
i

(3) wdderr Frdieror & Sgey B

(4) widerr wels & @ v we afda & 994
gl

(5) 3R e
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17.

18.

18.

Which of the following term/s isfare correctly

explained by F.W. Riggs?

(i) Heterogenity — It is the degree of difference or
agreement between what is formally prescribed
by laws and what is actually practised.

(ii) Formalism — Simultaneous presence side

side, of different kinds of systems. practidés "

and view-points.

(iti) Overlapping — The extent to which formaily

differentiated structures of a diffracted society
co-exists with undifferentiated structures.
Select the correct answer using the code given
below -
(1) i) only (2) (i) and (ii) .
(3) (i) and (iii) (4) (ii) and (iii)
(5) Question not attempted
What does LPC stand for in Fiedler’s Contingency
Model of Leadership?
(1) Least Preferred Co-worker
(2) Leader’s Personal Capacity
(3) Leader's Positive Communication
(4) Leader’'s Performance Capacity

(5) Question not attempted 3
Which is the correct sequence of budget M 19

enactment?

(1) Introduction, voting on demands, general
discussion, finance bill and appropriation bill

(2) General discussion, introduction, voting on
demands, appropriation bill, finance bill

(3) Introduction, general discussion, voting on
demands, appropriation bill, finance bill

(4) Introduction, general discussion, voling on
demands, finance bill, appropriation bill

(5) Question not attempted

17. fefaiga & 9§ oFw 9% s, R & gm™

18.

WE WHN 9 FEInar T &7

(i) Rurdgar — ag AR gw simaRe &9 9
FeifRa sfiv arag § o @aer | orar ST
& 9we 49 sfov a1 weala @ &l &)

(i) sfrgefRear — faf= ger 9 yonferal, verai
3R gicaion o uF A SuRfy |

(iii) sfewg — v faafifa wora & ftvals
w1 ¥ fnfe weaand e &g oo afdwfom
Tl & wr we—aivae f wd £

=i @z & U Ha §Y wél IR @

T HToI —

(1) @ae (iii) (2) (i) wa (ii)
(3) (i) vd (iii) (4) (i) T (iii)
(8) areiie we

freet & “ga @ wefas Afsa § A

&1 T e} 87

(1) Fa9 o9 gHdIET TEFAal

(2) sen & =fderra swn

(3) a1 BT TENHE TEN

(4) =ar & B gHa

(8) argeifRa we

o ARFTET & WE wE S 87

(1) gRga, @i W wdaE, 9w g9 |, @
faerae o fafram fadas

(2) Wy =i, uftey, w7l 9Y HogE, B
fEers, o fdas

(3) uf¥em, wm=a w9, w1 W AaeE, R
s, faw s

(4) uf¥=a, s 94, @ W HaeE, e
faeras, fafiam ks

(8) sFpaite wWes

20. Epvironment, boundary, conversion process and 20, uzfawwr, W1, @gew @ dfiewr @ iR
feedback are the concepts related to which Theory FFRIVIY Sl Ay & e e |
of Public Policy Analysis? wafag 8
(1) Elite Theory (2) Structural-functional (1) siffror R (2) wvaTT —
Theory eEs  fagE
(3) System Theory (4) Institutional Theory (3) =awen fgia (4) | fhgia
(5) Question not attempted 3 (5) arFfmiRe ge=
21. Which of the following is related with the | 2. mE @ gise UsMbelenw fFefafeg 4 9
Droit Administratif? = e wafom 87
(1) Ordinary Law of France (1) %1E ST AERET S
(2) Constitutional Court of France (2) wie &1 HEEnE Sie
(3) Intra-administration relationship (3) aie: wemwf=e Hag
(4) Citizen-administration relationship () AT — werafs wag
(5) Question not attempted (8) argeiive wes
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22. Which among the following is not a part of 22 Fy=iifdsa & @ FFmar yeoefie sFE & S0 @

De]ega_md _ Legislation as a source of w7 3 yerafre A @1 v wn A 2e
Administrative Law?
(1) Executive orders : (1) HrdaT sraw
(2) Rules and Regulations ﬁ (2) Fram qa Rfem
(3) Bye-Laws AR (3) Su-fagm
(4) Doctrine of Legitimate Expectation (8) &g aen @ fgia
(5) Question not attempted (5) e we
23. Consider the following statements regarding 23. R&mw yaes & fRvwar & wae § Fefaiaa
features of development administration — FeEl W fdam & —
(i) It is a goal oriented administrative system. (i) UE e S weraie areen @)
(ii)Decentralised planning instead of planned (ii) efapaven § Feifoe oRads & wm w
change in economy. fam=iea Faw
(i11) It is an innovative administrative system, (iii) T% v A= gerEaae uoel 2
Select the correct answer using the code given Frfafas @2 91 e 9§ w6 9 & 99
below — HIAT —
Code - 9c -
(1) (i) & (ii) (2) (ii) & (iii) (1) (i) T4 (ii) (2) (i) ©e (iii)
(3) (i) only (@) (i) & (iii) (3) @as (i) (4) (i) 7 (iii)
(5) Question not attempted . (5) sk e
24. What is correct regarding Path-Goal Theory E‘ e @ Ue-Te fogia & an # T wd @7
Leadership? VAR (1) g we € feer g wftafae R
(1) It was given by Fred E. Fiedler. (2) e 512 wearen Rieia & At &)
(2) lts roots lies in expectancy theory. (3) w& Ay @1 Rerdien el & favam s
{3) It believes in the situational nature of 1
leadership. (4) Senat & anw 49 @ waferat s wisa wdh
(4) Leaders enjoy inbuilt trails of commands. £
(5) Question not attempted (5) argafa we
25. What is comrect regarding Comparative  25. FFIeH® WA SiglaT @ 4N H @ WE) 87
Administration Movement? (@) g faewm gu Rw A wew aren geon
(a) Woodrow Wilson was the foremost thinker in e e
this regard. (@) $9 09 SR A AR v
(b} Tt emphasized on comparative studies of = qerTeTE sETaAl TR W R
administrative systems in Europe & America. () Te T serEl W e Sfgd i)
(¢) It focussed on ideographic studies. ‘ @) PR BRIV ¥ 39 AT 31 A fda
(d) l;zr:ntriﬂt?::ﬂ;bfswd this movement by@ 1 i Rt
Select the correct answer by using code givscr ’e A9 R =1 T @ [ I B
below — BT —
Code - L
(1) a,b,c.d (2) a, b, c Maa w7 (@@ a9
(3) a, d (4) b, c, d (3)u = 49w 7
(5) Question not attempted (8) sr=aife WA
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26. Which of the following is not a reason for the 26 &1 & & Wy # yarwfe @A # spEyd ofE

27.

28.

phenomenal growth of administrative law in recent

times?

(1) Widening of free initiative

(2) Emphasis on Social interest

(3) Increasing welfare activities of the state

(4) Highly technical nature of administration

(5) Question not attempted

Assertion (A) - Simon called Principles of
Administration as ‘the proverbs
of administration’. '

Reason (R) - Almost every principle of

administration s equality plausible and acceptable
contradiction.

(1) Both (A) and (R) are correct and (R) is correct

explanation of (A).

(2) Both (A) and (R) are correct but (R) is not
correct explanation of (A).

(3) (A) is true and (R) is false.

(4) (A) is false and (R) is true.

(5) Question not attempted

Which of the following is not an administrative

problem in policy implementation?

(1) Lack of effective policy design

(2) Lack of personnels and financial resources

(3) Lack of adequate institutional capacity

(4) Lack of coordination and cooperation

(5) Question not attempted

main motives for social research by P.V. Young?

(1) To discover new concepis and techniques

(2) Curiosity and necessity to know the unknown

(3) Social thinking and awakening

(4) Desire to understand the
relationship of social Phenomena

(5) Question not attempted

cause-effect

Malls

27.

- Which of the following is not included among four 29

g‘iﬁﬂvﬁﬁﬁﬂﬁfﬁﬁﬁ#aﬂﬂmwwﬁ

7

(1) #ar1 ged &1 fawan

(2) wmifore B w o

(3) ¥ @ Sie Degrmrd TataREr ¥ der

(4) wemer= @ oTniee ddeie) Hafa

(8) ariitE wed

S HY (A) — wgH A e T & g

@ T @ wEEd B |

HRY (R) — WMo+ &1 Weldw fgh 999y 9

wEEHE vd Wi e A

(1) (A) & (R) ST Wé & T (R), (A) ¥ Wl
e 8|

(2) (A) wd (R) =91 && & Ug (R), (A) @1 &&
e e |

(3) (A) W& & vd (R) 7ea &

(4) (A) TTEiT & Ud (R) WA &)

(5) argaiie wee

frpafefaa & @ 9@ s e oes @

WA THE FE 87

(1) wwrEt +ifa w= &1 &9

(2) wiffe! o ol wam=T @ &4

(3) iy RIS ST @ I

(4) HH=GT Tl HEANT B HH

(5) SrfeTive W

A @ W sEaE % 9 n geE

ﬁﬁmﬁr@ﬁﬁﬁﬁfﬂﬁﬂﬁwﬁﬁ%?

(1) 7€ srmuRE s ae-e @ @

(2) arsier @7 WA B forgmen s smavawa

(3) wrhore favae afie wirTseEar

(4) wrfors weiel & A SRU-UHE W]
W S B s

(5) arafte we

30. Which of the following is not correct about Rank 30 =1 & 9 &% WuRll & ¥& @iffewo & anr 3
Classification of Civil Service? a1 |el 8l 87
(1) It induces lovalty to the totality of the ci () 7& Wl dewar & g B & g aRa
service ruther than to a specific post. el @l & 7 6 0w @y gq @ o
(2) This classification is easier to understand and (2) g6 afieer &1 wogT o gt e
administer, T 2|
(3) It attracts competent and promising personnels. @ ggl W AR EFTER B 21 s B
(4) ‘f.!nsm Df_ classification is the precise duties (@) T B oM uT ¥ BRa de i
mherent in the post, : £
(5) Question not attempted (8) argiRe we
37-0 Page 7 of 32




31. Who has written the book ‘Human Problem
Solving"? (1) &€ wsw (2) #9 U Wi

(1) Herbert Simon (2) Mary Parker Follett ; 5
(3) Chester Barnard (4) Elton Mayo ﬁ (3) F¥ey IvTe (4) Tees W
2N (5) Jgafta ue

(5) Question not attempted
32. The concept of ‘interoperability’ given by 32 gy fegs weE= g 4 T sroedaoraar
Minnowbrook Conference I1T has characteristics - oY aren & fagar & -
(@) Term is borrowed from engineering science. (a) wree siftyanfe=a) fasme & foran an €1
(b) Considers the impact of possible social, (b) wFifors, WoEfae adl WIS e
FNH B WG W fFaw vl 2|

political and organizational factors. ;
(c) New Public Service model was proposed in (c) g frspsl @ srfbar # Faeiie Aar Wy
weenfaa faar |

response to its conclusion. : .
(d) Better decision making and better coordination (d) wed FEiwd & o Pl @ s

3. ggwa diem wifedn ywd foee ford) 87

of government programmes. |9y |
Select the correct answer by using code given 43 T3 e &1 T v gl a1 9w
24y (M b _d (2) a, b
(1) b,c,d (2) a, b, c . C; a,b.c
(3) a. b (4) a,b.d B ab (4) a,b,d
* (5) Question not attempted (5) el gw=

33. Consider the following statements regarding the 33. &% Hift & wew & wed # F=fafag syl
significance of public policy - : R faar fifem -
(i) Itis purposive and deliberately formulated. 2 (i) g SrEmyel enlt & oun faEgEs aard e
(i1) It is a series of discrete decisions. - okainla 2]
(i11) It delineates a time frame in which its goals (i) T€ & e SreT Foil @ e e & |

have to be achieved. (i) 78 e wEy @ PRy wxh & R

Choose the correct statements from the code given TES el F1 urd S BT &
below - :
(1) (ii) and Giii)only (@) (i), (i) and (i) it (Eﬁffﬁ?iﬁ ﬂamﬁf [?:;' ﬂm
(5) Question not attempted (5) e we | |

34. Who of the following thinkers is considered the 34 fq ¥ & &9 wrfore aaawr @ &

spiritual father of the “social system” school? smefors v © vy Bafa B ame 82
(1) MLP. Follett (2) Herbert Simon (1) gadl. wiee (2) gadd wgH -

(3) Elton Mayo (4) Chester Barnard (3) gees #al (4) By aerd

(5) Question not attempted (8) argaRa we

35. Which of the following is not correct regarding  35. WmafA® =arfEl & wae § Fefoltaa 4 9

administrative tribunals? PrEl wel Tl 87

(1) Administrative Tribunals have all judici (1) worafE el & W e ifdean
powers, ‘ e £ |

(2) In some cases jurisdiction of State High Courts™ %y (2) BB Al 4 oy Wea el o1 SR

also extends to administrative tribunals. HHTHAS SR a@ Bl g € |

(3) In the absence of statutory requirements
administrative tribunals are free to follow any
procedure.

(4) In India administrative tribunals are under the
appellate jurisdiction of Supreme Court.

(5) Question not attempted

(3) duifie smygeast & v d vl
raferexer fee ot wiea &1 ues s &
fore waem &)

(4) 7Ra F wemafe Sramfteor gdie AaTay
& snfieita sanfier @& s &)

(5) srgaieE wee

37-0
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36. Consider the following statements regarding

37.

normative optimum model of the Yehezkel Dror -

(i) It deals with both rational and extra-rational
components.

(i) It has Seventeen stages.

(iii) It presents a modified form of rational model
which leads to pure rationality.

below -

Code -

(1) (1) and (iii) only (2) (i), (ii) and (iii)

(3) (i) and (iii) only (4) (i) and (ii) only

(3) Question not attempted

Which of the following pair is not correctly

mtched?

(1) Deficit Financing — Means of financing the
deliberate excess of expenditure over income
through printing of currency notes.

(2) Performance budget — System of presentation
of public expenditure in terms of function and
ngl'li.[!"l.l'ﬁﬂ.

(3) Zero based budgeting — It is an operating,
planning and budgetary process which requires
each administration to justify budget reguest in
detail from scratch.

Choose the correct statements from the code giwﬁ

Bank of India.
(5) Question not attempted

() Fiscal Policy — Economic policy of RESEW!E"::E

vocabulary of public administration?

(1) J. M. Gaus (2) Ferrel Heady
(3) Robert Dahl (4) Fred Riggs
(5) Question not attempted

- What is correct regarding the functions of Budget?

Select correct answer by using code given below —

#. To ensure financial accountability of Executive
to Legislature.

b. To ensure accountability of subordinates to
superior in administration.

c. To facilitate efficient execution of public
services.

d. It is an instrument of social and economic policy.

Code -

(1) b.c.d (2) a, b, d

(3) a,b,c,d () a, b c

(5) Question not attempted

36. Jpudicl SN B HEE gwod diEe @ wed A

 Who introduced the term ‘ecology’ in the 38

fr=foitaa seFi w REr Sifon —

(i) TE a@wTa o sfoRen aeaTa SHf ues
9 wafa &)

(il) D HivE w0 £

(iii) T8 THHTT HiSH B WG G WET B
£ o B | aewTe @1 AR o o 8

frefafea o= # & w8 @l & =379

BT —

’@_

(1) @aer (i) 79 (iii)

(3) @ae (i) T4 (iii)

(5) sl wes

(2) (i), (ii) U9 (iii)
(4) Has (i) v (i)

- d 9 F g &l fem a9l 2

) a2 @1 fas — qg1 e # vwE & e A
I ¥ aE =g & o gy RadifRa
WY B A |

(2) Feres awie —. ol vd FwAEl & el |
wrwi® @/ @) gegfa @ gl |

(3) 1 ameniRe vl — I8 Ueh aitareH, e
3 gy A & e forg wels woes
P YE § & qaue IE DI fAwR I R
TEN Bl STaTIHT B 8 |

(4) sy Hift — wred Rod d5 9 anfde
ifer |

(5) sl wes

de weed @ w@Ee § uiRafie e

free wearfaa fsar?

(1) S.os T (2) Fvar 81
(3) Jfad =TEA (4) s fry
(8) srife wee

e & Fl @ e § qn w27 = Ry e

B WANT T e SN BT qUT BITg —

3. sEgfoer @ fenfim @ oy Adm oEm
28 ghf¥Ea &)

7. menee # anfelt @ ewee s & ufa
wiaTg <8 gifram s

W, deaaRll 1 $¥E araas sv)

E.;ﬁmﬁaﬁﬁ%ﬂwm
|

s |/ -

& (3 ¥ 35 ()3 9 &
(1<) B M - A L= I A
(5) sl wes

37-0
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40. “Administrative Law as the law relating to the

41.

administration. It determines organisation, powers
and duties of the administrative authorities.” Who
said this?

(1) A.V. Dicey
(3) J.F. Gamner
(5) Question not attempted

(2) Sir Ivor Jennings
(4) William Wade

FIL'
Which one of the following is not included iM-

Lowi’s Classification of Policies?

(1) Redistributive (2) Distributive
(3) Developmental (4) Regulative
(5) Question not attempted

Which of the following is not a Principle of the
Budget System?
(1) Concision (2) Periodicity

(3) Economy (4) Clarity
(5) Question not attempted

43. Who from the following said that ‘The Civil

Service is a professional body of officials,
permanent, paid and skilled'?
(1) EN. Gladden (2) Dwight Waldo

(3) N.R. Deshpande (4) Herman Finer
(5) Question not attempted

* University of Michigan Studies is related with

which type of Theory of Leadership?
(1) Trait Theory (2) Work Centred
Theory

(3) Behavioural Theory (4) Contingency Theory

(5) Question not attempted

Which of the following is not a major penalty for

formal disciplinary action?

(1) Reduction to a lower time scale of pay, grade
or post

(2) Compulsory retirement

(3) Withholding of promotions

(4) Reduction 10 a lower time pay scale for
specified period

(5) Question not attempted

42,

43.

"

a4.

o

40. “yymrafye HEE WO At S €| 98

e Wil @ W@iad, ifdaar s o
@) FaiRe & 81 18 A e 87

(1) v, s (2) ¥ amsay wif
(3) S1LUF, TR (4) Aty T
(5) argRa wes

P & & Fwr g @d @ Aife wimer A
witafera 61 87

(1) g e (2) feRviea®

(3) famraTeT® (® s

(8) sreiive W
fr=fafga % 9 s awe aonel & faer

el &7

(1) wfEaa (2) amaferser
(3) Feemgen (4) v
(5) argefa e

Pretfofera 3 3 e w® @er B, Rifaw a9
werll, ot ot ave aifteiRal @1 ve a9
g 27

(1) =, = (2) garze aEs

(3) TR, Feme (4) w5 wTEAT

(8) argefa we

faftr Rwafaeey serm Jga @ e ger

& figio 9 ddfe 87

(1) e Rvgta (2) &1 Sfun i
(3) eaer Rigia (4) snraftmeo R
(5) areiRe wed

- Prafafea # @ @9 siivais sqaenes
oNag @ fory ®1¢ F91 98 el 87

(1) Frae 9o, U2 A1 9 OY geraeh

(2) sifrard Harfgfy

(3) wat=fey e

(4) v Ffdag sl & foe Fea do9am A
L HERIG]

(8) s we

37-0
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46. Match List-l with List-Tl and choose right

47,

49.

alternative —
List-1 (Policy) List-I1 (Example)
(A) Redistributive policy (i) Adult education
(B) Regulatory policy (i) Pollution control
(C) Distributive policy (i) Monetary policy
(D) Substantive policy (iv) Financial subsidies
to states
{v) Provision of education
(1) (A)-tiv), (B)-(ii), (C)-(ii), (D)-(i)
(@) (A)-(iid), (B)-(ii), (C)-(v), (D)-(iv)
(3) (A)-(iii). (B)-(ii), (C)=(i), (D)-{v)
(4) (A)-(ii), (B)-(1), (C)-(iii), (D)-(v)
(5) Question not attempted
What  are  the factors  that
decentralisation?
(a) Factor of responsibility
(b) Stability of policy
(c) Heterogeneous technical functions
(d) Modern economic planning
Choose the comrect answer from the code given
below -
(1) (a) and (b) {2) (b) and (¢)
(3) (a), (b) and (c) (4) (b), (c)and (d)
(5) Question not attempted

facilitale

= Administrative Law is a branch of which of the

following?

(1) Public Law (2) Statutory Law

(3) Private Law (4) Procedural Law

(5) Question not attempted

Which of the following is not included in
performance budgeting?

(1) The intent and aims for which money is needed.
(2) Outcome to be realised.

(3) Provides multiple alternative course of action.

(4) Sums of money needed to carry out
programmes.

(5) Question not attempted

46.

47.

-1 $1 -1l & e e s 98 e
¥ —

-1 () 11 (SrEvo)
(A) Tfdeaws M () e B
(B) Fama Hifd (ii) FgEYT P
(C) Ravnes N i) Aifte iy
(D) wfeaas iy (iv) 50 &1 fadha afead

(v) B & waas
(1) (A)-(iv), (B)=(iii), (C)-(ii), (D)-(i)
(2) (A)-(iii), (B)-(ii), (C)(v), (D)-(iv)
(3) (A)-(iii), (B)-(ii), (C)(1), (D)-{v)
(4) (A)-(ii), (B)-(1), (C)(iii), (D)-(v)
(8) s wem
q B g & o REHET @ qear oa &
(a) SONEIAE &7 o
(b) A F1 fer BF
(c) favidg aae &l
(d) s sl P
fr=faiaa se 4 4w S @1 e w5 —
(1) (a) Ta (b) (2) (b) ¥ (c)

(3) (a), (b) T4 (c) (4) (b). (c) U4 (d)
(5) argelta wea
48. wwwine wrE Frefaa § 9 fewa swar 27
() et ® F g (2) denfe SrE
& (3) Pl e (4) wipars @
2 (8) ariRa e
49. fp=iferfian § 9 S Faes gue § aafeg

el &7

(1) w2 aen @ Rrad o g9 m@ife |

(2) ufRoms WY TR e &

ﬂigﬁmﬁaﬁ%mﬁ%ﬁf’ﬁwﬁ@mm
I

(4) Frims wfora @99 & oo angeas =i

(5) srgmiie weA

50. Graicunas Formula is related to which of the 50. A5 wifar Fmifea & ¥ By woafs
following administrative principle? fRrgia & wafaa 27
(1) Authority (2) Span of Control (1) wifermTe (2) fFraiser @1 &
(3) Delegation (4) Supervision (3) wemATaT (4) gefde
(5) Question not attempted (5) srgaiRa wes
51. Which of the following is not an Efficiency Rating  51. Fy=ifeifan § @ @ damii § =iy @ R
Method for promotion in services? s wrEETe et yomed wE 87
(1) Production records  (2) Probst rating scale [proc (V) W@ Regs  (2) vee fEn =
(3) Graphic rating scale (4) Mercalli scale (3) Tt AT e (4) Adel et
(5) Question not attempted (8) srgaiRa we
37-0 Page 11 of 32




52. Which of the following statement is not a critique

of Weberian Model of Bureaucracy?

(1) Officials business and private affairs are
strictly separate.

(2) Weberian Mode! is not quite suitable for
transplantation in the non-western
environments.

(3) It has internal contradictions.

(4) Weberian Model cannot be applied to
administration of different places and times.

(5) Question not attempted '

- Who among the following said that Public

Administration and Private Administration “have

special values and techniques of their own, which

give to each its distinctive character™?

(1) D. Waldo (2) Henry Fayol

(3) Luther Gulick (4) Wallace Sayre

(5) Question not attempted

+ The Country Club Management type of leadership

style by Blake and Mouton believes in which of the

following?

(1) Lack of concern for both production and
employees.

(2) Maintaining balance between production and
employees.

(3) High concemn for production and low concern
for employees.

(4) Low concern for production and high concern
for employees.

(5) Question not attempted

- Assertion (A) - Maslow’s contribution to

Motivation Theory lies in his
simple and straight forward
analysis of human motivation by
taking human needs as the basis
of human behaviour.

Reason (R) — Maslow felt that most theories of

motivation mainly focused on physiological needs

and omitted other important needs relating to
personal growth.

(1) (A) is false but (R) is true.

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are correct and (R) is the
correct explanation of (A). |

(4) Both (A) and (R) are correct and (R) is not the
correct explanation of (A).

(5) Question not attempted

52. fr=ifafiaa 8 9 F9a oy g & JaRgT

Hied @1 AT TE 27
mmmﬂqﬁﬁﬁﬁﬂﬁrﬁlﬁﬂfwﬁm
|
(2) Fafas diee fre—uf¥=d ammEwer # g
% fory faeme Sugen =& 2)
(3) gud srafts fadmemms &)

- _@Iﬁﬁaﬂmﬁﬁﬁ?ﬁwﬁaﬂ?ﬂﬂﬁa‘a

= WM UY ARL e e o wedr #
TN T

53. fr=ferfiag o @ fres e & oy 3R

Fefl wemea @ o v @ e g e
mﬁ.ﬁﬁuﬂﬁﬁmﬁﬁmaﬁamﬂ

(1) 3. aresl (2) &1 ST
(3) e ferw (4) grere W
(5) srgaita e

# Jgeg deh frm ¥ e s 87

(1) 9anes sk @dwig 3F & ufty fa &
374 |

(2) Sware 3R PHERAT & Wy HgeR &
E |

(3) Sures #1 A Teva ok HRal & T
HET |

.y :glwﬁmwmmﬁm

- HEw™ |
FRA WA

55. gftmes (A) — afinRy faglE # Al &

anTeE WFa AETIEmaRl @
HEd Z9ER & JER & w9 #
o g¢ Aa SR % e v
a@ e § fAfge )
HROI (R) — et 1 weww fan & sfR &
st figia gz w9 9 whis s
W EH Bied weg § v o e @
Hafoe s HETayel SEvEEaR H Bie ad &
(1) (A) a5 & afs (R) 9o 2|
(2) (A) e & @fF (R) g &1
(3) (A) 3 (R) BT 9w # 3 (R), (A) &1 |8
S HI £

f1pe ) (A) 3R (R) BFT W € AP (R), (A) B

A e B

.ﬂagaﬁﬁm
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60.

The Parkinson's Law of Rising Pyramid of

Bureaucrats refers to -

(1) Tendency of civil servants towards greater
centralization.

(2) Tendency of civil servants to displace goals by
making more rules.

(3) Increase in the number of civil servants without
corresponding increase in volume of work.

(4) Promotion of civil servants without assessment _

of competency.
(5) Question not artempted

Which one of the following is not administrative .

tribunal in India?

(1) High Court (2) Industrial Tribunal
(3) Election (4) Income Tax
Commissions Appellate Tribunal

(5) Question not attempted

» Which of the following is not correct regarding the

principles of Financial Administration?
(1) Stability and Balance

(2) Principle of correspondence

(3) Complex and Rigidity

(4) Political Direction

(5) Question not attempted

- Assertion (A) - ‘Administration of development’

and ‘Development of

56.

-

58.

59,

administration’ are functionallyy® s ' L

interrelated to each other.

Reason (R) — Administration can normally
improved without change in the environmental
constrainls.

(1) (A) is false but (R) is true.

(2) Both (A) and (R) are correct (R) is the correct

explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are correct, (R) is not the -

correct explanation of (A).

(5) Question not attempted

Deficit Financing is resorted to by the government

due to which of the following reasons?

(1) To increase budget allocation for different
ministries.

(2) To increase government expenditure for
selected programmes.

(3) To pay salaries of government employees.

(4) To meet the gap between the revenue
expenditure budgets.

(5) Question not attempted

N

Hravend & daw § s @ 9w fofie &

P & 98 amen -

mg@? TaH W ANE dHEE B OAR

|

(2) @ dEsl gw afE By anee st &
fareenfoe @ 9 mafer

(3) @ @ | B afE @ Ml dar wiffer
@1 e # gfE )

(4) Hreren wa & faen fafas Jawt & o=

(5) arfmiia weA

Frafafas & 9 s ve wwa § gorafs

e i &7

(1) 359 “Iea (2) afrenfirs =i

(3) Fatas s (4) sma@ sdeira
e

(5) armfta ue

faefra somem & fogil @ an § Prafeafeg 3

H B wer TE 87

(1) Reyzen vd wee

(2) draan @1 fagla

(3) wfea vd waRa

(4) yrorifars s

(8) sriRa ue

U (A) — e @ usnwe s weres
® g, sIiEs w9 4 UF

TR 9 siiEfa ¥ |
HRUT (R) — W9 WERVES: gaEeeia aenst
# oftads & e ge w2

(1) (A) area & afds (R) o & |

(2) (A) 3R (R) ST 79 & 3% (R), (A) &1 &8
T BT & |

(3) (A) e & s (R) /e &

(4) (A) 3R (R) 391 T & afdFT (R), (A) o
Tl REn el wear 21

(5) srEiRe uw

. F=fafaa sroi § ¥ e so SR B8N

e faedmer & e ferar s 87
{ﬂgqﬁﬂﬁam!ﬁa?%Qmmﬁﬁmﬁa‘i
|
(2) gafe srdsal § gverd om 98 @ &)
(3) T AR & o9 3 & B
(4) 3o SR &g auie & @9 @ SR B 9
e B 0|

(5) SrgeriRer e

37.
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61. Which of the following is not correct regarding ~ 61.

Research Methodology?

(1) Researcher has to expose the research decisions
to evaluation before their implementation.

(2) Research techniques vary with nature &
requirements of research problem.

(3) Research method and research methodology
are the same thing.

(4) A systematic way for solving any research

problem. gk
(5) Question not attempted &L
62. Which among the following is not related to

top-down model of Policy implementation?
(1) Brian Hogwood (2) Michael Lipsky
(3) Lewis Gunn (4) Aaron Wildavsky
(5) Question not attempted
63. Which of the following type of budgeting is not 63
correctly matched with its main characteristic?
(1) Planning programming budgeting system -

Economic planning

(2) Performance budgeting - Management
orientation

(3) Line item budgeting — Control orientation

(4) Management by objectives — Ranking
programme priorities

(5) Question not attempted

64. Which one is called non-probability sampling? 64.

(1) Systematic sampling (2) Quota sampling
(3) Stratified  random(4) Cluster sampling
sampling I
(5) Question not attempted
65. To mitigate the evils of bureaucratic monopol
which one of following is not suggested by
William A. Niskanen?
(1) Strict control on bureaucracy through executive
or the legislature
(2) More competition in delivery of public services
(3) To induce the specialists in administration
(4) Privatization or contracting-out to reduce
wastage
(5) Question not attempted
B66. Where are the Central Administrative Tribunal  66.
Benches functioning in Rajasthan?
(1) Ajmer and Bikaner (2) Jaipur and Jodhpur
(3) Jaipur and Ajmer  (4) Ajmer and Jodhpug_ Lk *
(5) Question not attempted

T gl & A § Pe=falea § @ s w8

el 87

(1) st &1 s T PRl @ e @
T W Y edie &q WHE S B 6 |

(2) ot wAE @ WPl U6 SnAwIEAE] @
SR oy wiaftear agend e £

(3) wiry Ay wa v wEfy U & A )

(4) i) 2ier |HEN B B FY B S HaRer
GHEIS S

(5) arafta we
Fr=ifafaa § @ o= o st & Su—aaa
dites O walke 8 &7

(1) @ra= &S (2) Higwa ol
(3) ggw A (4) T argTeaTa)
(5) srguia wesi

frafefiaa § 9 PR UHR F aoic FHH J=
Rreer & ol @ @ Ao 78 @ 87

(1) Gy g qufen amEen — v
[GE T

(2) Fares Fwfen — waus IEiHw

(3) civg=1 agen aurfen — o= affd=ma

(8) Sival R wame — @A D ArFEEm
D] HH— g

(8) srgaRa wes

He—wrear ufEea 9 oea €7

(1) e2@fem wftrmas (2) ser sfeaa

(3) writga wgfeas  (4) wE wirams
wftrea=
(8) arwiRe we

- HEEEl & UHIUER B gUsal B B B B

fre faferam v e A e A ot oo 5@

I 27

(1) e o1 Renfies g AewEnd =
wor Fo=m

(2) v a1 ueE & ¥ e uftet

(3) wems # fagmsh &1 wiwfe s

(4) s & @9 S & o ol a1 wide
o ®r A S

(8) safe we

JERE H S wEEte st §ie FEi

Hdve &7

(1) PR 9 forr lﬂlﬁi?lgi'ﬂiﬂﬁgi

(3) SaYY g 3ot (4) 3P WYY

(5) st v
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67. Who from the following has referred to
coordination as being of two types - procedural and
substantive?

(1) John Pfiffner (2) Herbert Simon
(3) James D. Mooney  (4) Alan C. Reiley
(5) Question not attempted

8. Which of the following Principle is not correct

about Public and Private Administration as per Sirf_ U * U & an §

Josiah Stamp?
(1) Principle of Marginal Return
(2) Principle of Bureaucratic Control
(3) Principle of Political Accountability
(4) Principle of Uniformity
(5) Question not attempted
69. Which of the following is not correct regarding
scientific research?

67. f=ifoifa 4 9 s w=ga & 91 vaw @
Farar & — uiharws s arw?

(1) W frma (2) gdd wgHe
(3) o= & (4) go /. &
(5) areiie uv
68. W Wit ¥ & W wEmE= 3N e
# 9 oFw fagm
HE T &7
(1) srift¥re e o1 R
(2) sifrerd o3 @ o= &1 fagi
(3) v awveie & e
(4) vwuar &1 gt
(5) srmfE wes

69. I e © waw ¥ Prefafew § R
T wE 9 27

(1) It is non-cumulative (2) It is non-ethical (1) @& swad) & (2) 7E s 2
(3) It is empirical (4) 1t is Theoretical (3) 7% g & (4) 7w Aaifos @
(5) Question not attempted (5) &eiRe g
70. What is correct regarding the core principles of 0. 2w afv f+if g1 2w v @ H v @ Heqd
New Public Management given by Hays and gt & an § @ wé &7
Kearney? (&) RaE=hasw
(a) Decentralization (@) smwr § w9
(b) Down sizing (@) T
{¢) Managerialism A (@) Hraand RrEE
(d) De-bureaucratization : . ’E 49 frw e we B oW &0 W8 TR 3
Select the correct answer by using code give T
below -
(1) . b. d @ b, c.d M# 39 7 (29 9 7
(3) a, b, c.d @ a.b.c f4,9 9.3 W99
(5) Question not attempted (5) et s

71. Which of the following is not a technique of formal
training?.
(1) Syndicate method  (2) Learning from
mistakes
(3) Role play (4) Incidence method
(5) Question not artempted
72. Which of the following is not a category of
comparative public administration as identified by
Ferrel Heady?
(1) Modified traditional
(2) Middle range theory formulation
(3) General system model building
(4) Information — Energy Model

(5) Question not attempted

. Fefafag 4 & s slgefRs wfdmor
a@iE Tal 87

(1) fafdsde faf (2) Traafert | wivan
(3) 9 fafe (4) smuee vEfy
(8) spafea wes

72. fFrafafaa # @ s ot 28 Ry aarh
orieTeh ol g @) gof T 27
(1) weniE geseEre

%Iﬂm#ﬁﬁ@aﬁﬁw

(3) W uomel! Hige faEi
(4) TpvE — Tl Hiee
(5) srgmiive W

a7-0

Page 15 of 32




73. Which one of the following is the feature of a 73 Fy=ifefaa # % @ s ®dsfa Mo 3

programmed decision?

(1) It is related with day-lo-day operations of
organisation

(2) Tt is unique and novel.

(3) It is strategic, which is taken in special
circumstances.

(4) It is routine and repetitive.
(5) jon not attempted
74. The uction of Performance Related Incentive 74

Scheme (PRIS) and Pay Band System for
government employees in India was  first
recommended by -

(1) Sixth Pay Commission

(2) Fifth Pay Commission

(3) Fourth Pay Commission

(4) Seventh Pay Commission

(5) Question not attempled

75. In which year the revenue accounting work was  75-

taken from the Comptroller and Auditor General?
(1) 1977 (2) 1978

(3) 1976 (4) 1975

(5) Question not attempted

76. Assertion (A) : The Civil Service through which 76

the will of the state is realised and
executed has been an integral part

AT
E of Modern Government.
1] ) ¢ Civil Service consists of a body of

government officers who are recruited openly on

the basis of competitive examination and who

function on the basis of law, rules and regulations.

(1) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

{2) Both (A) and (R) are correct and (R) is not the
correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted

77. Which of the following is not correct regarding the ~ 77-
g @ EnE e & waw # fefaRea |4

developments during the ‘Stage of Crisis of
Identity’ of Public Administration’s evolution?

(1) Comparative Public Administration

(2) ment Administration

(3) jcal Approach

(4) New Public Management

(5) Question not attlempted

fergramm &7

(1) g Heq @ fRa-vfR-fEm & ofaea 9
A e 8|

(2) g% 3R vd fafire emm £

(3) 7z eEfos w8 o R aRRufear |
forar o 21

(4) 5E “eas T YRR g |

(5) argaRa we

wie A e sl @ fow @ e

wHaef veErEs droren (PRIS) aftv da= & womed!

AN T BT gHE T e

(1) war aa1 STEE

(2) veai aa S

(3) e Ja= WA

(4) rerai aee SN

(8) sr=iRE weA

e od o cmmw @1 & FeEE U

HeTera udie® | o feran war er?

(1) 1977 (2) 1978
(3) 1976 (4) 1975
(5) a=mRE we

FoF (A): @ W forae A | o 3
s & wiaer o feofaa fem
?G?g%.aﬁﬁmmﬁmﬁmm

|

RO (R): i da1 war ARGl 1 Wi

& fomah el el nftraeft oden & wemm | @

e # st A FryE, Pl o Rl & smer

R HH B g | .

(1) (A) 3R (R) 21 W & 3l (R), (A) # W8

T e E |
(2) (A) 3% (R) @ @ew & o= (R), (A)
e @ A8 &Rl £ |

(3) (A) W & A (R) 990 &

(4) (A) FTen & afd (R) e 2

(5) arafa ue

@ wEEE @ 9gWg @) UsEm @ Hee 9

A B FE el 87
(1) GETHS Sl TR
(2) fRewra v

(3) mifrefaaia wurm
(4) 519 =D HE

(5) sFgeiRa we
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78. Which of the following is not a function of 78. =afer si@is &1 Fr=fefEa § & w0 U4

systematic accounting?
(1) To make financial record.

(2) To protect those holding funds.
(3) To reveal the financial health of organisation.

(4) To ensure strict adherence of rules nf!ﬁ' b

expenditure.

(5) Question not attempted

HI T &7

(1) R RerE &=

(2) FfER & wnITe arel STl 1\ e |

(3) wew & ol W @ SFEeR 0Ec
AT |

(4) 2 & st o serar | sre gRfeEd
HE |

(5) geRa

79. Assertion (A) — Woodrow Wilson is regarded as 79 3fy@e@ (A) — qs91 e o6 wemes ¥
the founder of the study of Public Y ] FITIH HET G E |
Administration. HRVT (R) — & Fa= 3 dd e & b
Reason (R) — His essay marked the emergence of g Ud WO g Ra @ o F R
Public Administration as a separate and far 2
independent field of study.
(1) Both {A) and (R) are true but (R) is not correct M iﬁ%ﬁ;ﬁaﬂ;:m w8 ﬁﬁ R), (A) B 8
g (2) (A) W& & g (R) T 2
{2) (A) 15 true but (R) is false.
(3) (A) is false b 1 (3) (A) T 2 fbeg (R) 981 8|
is false but (R) is true.
(4) Both (A) and (R) are true and (R) is correct (&) =il (A) 3fY(R) T & T (R), (A) BT W
explanation of (A). e 2|
(5) Question not attempted (5) sraRa we
BO. Which of the following is correct regardingg 80 g & fawn # iwa wd &7
Hierarchy? ﬁ (&) dE MY B HEE B
(a) Itis the Chain of Command. @ o sfe SaEdl f wEd £
(b) It is also called as Scalar Chain, (@) uE witer o e & shrmfe W
ic) It is the formal line of authority and 21
communication, (g) @E wod # Jegen U4 SRRl Wl @l
{d) It ensures the superior and subordinate i v 2|
relations in an organisation. B R T T A Aoz @ WA 9ER @ T
Select the correct answer by using the code given i — o )
below -
(1) a.b,c (2) a, b, d SN i
(3 b, c. d (4) a.b, ¢, d P37 W3 @3 %7
(5) Question not attempted (5) gl we
81. Which of the following pair is not correctly 81 Ffr= # 9 @& ™ &1 98 e =@ 282
splchocy (1) Raffa — vo wfoe =awen sw @ ol
(1) Diffracted — A social system where all wraem e faed 56 o &)
structures are highly diffuse. (2) wre — Rchfes @)
(2) Sala — The prismatic bureau. ‘ g (8) TOR-AST — RAR® e @1 sl
(3) Bazaar-Canteen — The ‘cconomic scene’ in afFy 2o : ’
prismatic society. : @) qﬁ_iw l a & P
(4) Poly-normative — Myth system of the prismatic b ki ASRICH IS
society. |
(5) Question not attempted (5) srgeiRa e
37-0 Page 17 of 32




B2. Which of the following is not related to the rational 82 fy=ifaifae 3 ¥ Fiwar aasgma AR Bt stee

policy making model? ¥ Haftre 78 87
(1) Ranking of goals in order of importance (1) weva & ®H | =) & TaRTIEH
(2) Cost-benefit analysis of policy altematives (2) i fasaat &1 s —ar fAvamor
(3) Selection of satisfying policy alternative (3) Hamee S Res o1 999
(4) Identification and determination of goals (8) T & gsEr e Feor
(5) Question not attempted 140 & () SR ow
83. Which of the following is NOT the assumption of Pt 3 Q) S A e § ek @
McGregor's Theory “Y' of human motivation? arg R @1 el &7

() &4 % mdfe v a@fye qawl o1 =19

(1) the expenditure of physical and mental effort
g1 8 wiRe ® o & 9w a1 anm

in work is as natural as play or rest. )
(2) Commitment to objectives is a function of the (2) Stef & nfrasear S99 IUefdr & @ U
rewards associated to their achievement. YRR F TS WY B
(3) The average human being has an inherent (3) vah ey & SafiRa w9 9 I @
dislike of work and will avoid it if he can. uwE el s vd e 8 e 9w e
T 2 |

(4) The average human being learns under proper
(@)t wErv wfd Sfm oRfefal §

ITNEIAE WIHR 8 T8 e, uveg o A

conditions not only to accept but also to seek

responsibility. —
(5) Question not attempted (5) st W
84. Who described position classification plan as the ., 84, fbw Refey @ffewor s o1 srfsE a9
foundation of a job oriented career system? woe @ i & wu § affg faar @7
(1) L.D. White (2) Herman Finer (1) yer.&1, =Ee (2) B g
(3) O. Glenn Stahl (4) Marshal E. Dimock (3) 3. =om w=iea (4) wreier 3. fedts
(5) Question not attempted (5) amRe uw
85. Which of the statement/s is/are true about Closed  85. &7 wwsl & ai & @71 /H F97 ¥ e/
Questions? 2
a5 W IEReia] @
(a) Closed questions may clarify the meaning of a 2y - IR S
question for respondents. Y wE E
(b) Closed questions reduce the possibility of (b) &e Uy W wrrEsn § 9ue o REfE
variability in the recording of answers in i ,
structured interviewing, 4 BN WA B T T
(¢) Closed questions enhance the comparability of (c) &% weq S} & gEemar ) qen £
answers. 4 famedi @ s gfw —
Choose the answer from the options given below — SY
Code - ®E —
(1) aand b (2) a, band ¢ s Madib (2) a, b3 c
(3) band ¢ (4) b only %'ﬁ} bafRc (4) Fae b
(5} Question not attempted (8) arg=TiE e
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86. Which of the following statement/s is/are correct

about Scientific Method in Research?

(A) It relies on empirical evidence.

(B) It utilizes relevant concepts.

(C) It is commitied to subjective consideration
only.

(D) It results into probabilist predications.

(1) (A), (C) and (D) (2) (B), (C) and (D)

(5) Question not attempled

- “The right promotion at the right time is an

essential part of the process of developing full

talents of men and women in the services.” It was

observed by -

(1) Fulton Committee  (2) L.D. White

(3) William Torpey (4) Hoover
Commission- |

(5) Question not attempted

(1) (@), (¥) v (3)

(3) (A), (B), (C) and (D) (4) (A), (B) and (D) Ei:-.. (3) (1), @), (W) wd (&) @ (). @) @ ()

s % AR ah ® A A fe i 9
T /D T we & /8

(@) =% s wawil oy Feiv @%l &

(a) @r® Wt smERe B SuAET # @l 2

[ﬂ)%’ﬁﬂﬁlﬂa}ﬁﬁﬁﬁdﬁ%ﬁﬂﬂ@ﬂﬁm
I

(@) #w wwifaa st # ofkfe 8 o £

(2 (. (%) va ()

o (5) argeilRa we

w wmg W e uE=fo, daet § erika

wfgemait aiv gual A1 qof wften #1 ek &=

1 wfdha &1 U Ay Wi 8| uE hud gn
HqET AU

(1) sees wffd (2) Tl ). |Ege
(3) faferam =i (4) ga¥ FHTE — |1
(5) sr=Ra e

Which of the following statement is not correct 88 wiw @ ¥el i F=ifaRen § ¥ wia Fu= wel

regarding France?

(1) The tenure of members of Senate is six years.

(2) Senate and National Assembly has equal
powers excepl regarding finance matter.

(3) The Prime Minister is chosen and appointed by
the President.

(4) The Council of Ministers is nominated by the
President on the recommendations of the Prime
Minister,

{5) Question not attempted

- According to Barnard, Communication in an

organization depends upon -

(a) Define channels of Communication
(h) Direct channel of Communication
{¢) Authentication of Communication

_ (d) Line of Communication should be short

(1) a and b only (2) a.b,candd
(3) a and c only (4) a. b, c
(5) Question not attempted

- Which of the following is a demerit of

Administrative Adjudication?

(1) Possesses greater technical knowledge by
Benches

(2) Legal qualifications and procedures are usually
lagging

(3) Rapid and cheap delivery of justice

involved
(5) Question not attempted

el 87

(1) ¥rFe 3 el & SRiEe B 94 BT 8

(2) fare day wmel & Blesy @Fe S Iy
a0 wfdaat s a8 8

(3 warsA wegufy gRT wAtE ud Fga
ST # |

(8) wer=sE @ S uR wsguly g A
ifae Brem &

(5) areiRa weA

- avnd @ e fdl s A war e R

fra ur oy a=ar &7
(a) FER & fAfEEg e
(b) HER & HE HEH
() e @1 i

(d) FE™ ) Y@ eid B aiRy
(1) @aet a 3 b (2) a, b, ¢, ¥R d
(3) T a i ¢ (4) a.b, ¢
(5) argeRe wea :

. ferfafa 4 @ @ e gefe s

F ST 87

(1) siftyeay g 9 | e 99

(2) Frpf et ot ufsaeil & w08
Al

(3) w1 od w¥T Y WEF B

e (4) gefiRa wmfe i @ et gem W

(4) Focus remains on furthering social policy] ¥l

i
(5) argafa e
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91. Who from the following described scientific 91 Pr=ifeiften # & fre Aenfre wawm @1 Tr9ifRs
management as the ‘physiological organisation . .
i ysiologi gani wre Rngle e &7
(1) Peter Drucker (2) M.P. Follett (1) drex @ (2) g wiete
(3) Simon and March  (4) Oliver Sheldon (3) W Ud A (4) sitferae Sieea
(8) Question not attempted (5) el weA
92 Which of the following is not associated to [ @2s FreT 3 & Fiar Are @ SPRROT @ ST
Mauslow's Need Hierarchy Theory of Motivation? e gt 9 dafoa a8 22
(1) Hygiene factors (2) Self-actualization (1) s g9e® (2) are—fafE
(3) Security needs (4) Esteem needs (3) HREn SEEEHET () WHA el
(5) Question not attempted (5) Wﬁﬂ Ee
93. According to Herzberg, which of the following  93. &5farf & amwR, Prefofas # & @ s
determinants is a job dissatisfier? S P AEeaas &7
(1) Recognition (2) Responsibility (1) gE=m (2) Seeaifie
(3) Achievement (4) Salary (3) Suafdr (4) FT=
(5) Question not attempted (5) srERa weA
94. In which type of observation the researcher 94 59 wyoR & IadHa § e wEER @
employs explicitly formulated rules for the Factida R Reifdn & fou we w1 3§ fur
observation and recording of behaviour? fre v At &1 Frafe sear 27
(1) Non-Participant Observation (1) Fe—ufemrh asma
(2) Unstructured Observation (2) arefEe arads
(3) Structured Observation sy g (B) TR SRS
(4) Participant Observation (4) ufehrft s
(5) Question not attempted @ (5) argaier WA
95. Transfer of Authority from one person to another ~ 95. U =iffy & Wk aifd &1 WRHR &1 W=l
person is called - e & —
(1) Unity of Command (2) Hierarchy (1) ameer #1 g (2) gewms
(3) Delegation (4) Decentralisation (3) v (4) famefiamo
(5) Question not attempted (5) srifte wes
96. Who among the following defined ‘budget as a  96. ‘awie @ Wou & cqm @& WM & e B
series of goals with price tags attached'? gr $;q H P A 9 fww grr aRaifa
(1) Peter A. Pyhrr (2) Bertram M. Gross by
(3) Verme B i:wi# (4) Aaron Wildavsky 3 AR ey i
s (3) o &1 gdw (4) WH ST
(5) Question not attempted (5) argeifter wet
ar.

Which of the following approach is very relevant
to study of complex public organisation that have

97. 78 Rfuaga e e afea @ Hrew

s @ fo frs o 9 Fe surm Sugem

huge diversified structure? L TR 27

(1) Systems approach  (2) Institutional (1) =awen Fummy (2) HemTE SuETH
approach YHeaaras gure (8) miRfefeta Suns

(3) Structural approach  (4) Ecological approach ::: e - "

{5) Question not attempted

r-0 Page 20 of 32



e e e ————

9B. Assertion (A) - The traditional bureaucratic model

appears to have lost its
significance.
Reason (R) - Increasing role of transpational
forces, the state - centred theories of burcaucracy
seem to be inadequate in addressing the radical
metamorphosis of Public Administration.
(1) (A) is true but (R) is false.
{2) Both (A) and (R) are comrect and (R) is not the
correct explanation of (A).
(3) Both (A) and (R) are correct and (R) is the
correct explanation of (A).
(8) (A) is false but (R) is true.
(5) Question not attempted

- Match List-1 with List-II and give correct answer

by using the code given below —
List-1
(Type of Research)
{a) Descriptive Research
{(b) Applied Rescarch
{c) Analytical Research
(d) Fundamental Research
List-I1
{Explanation)
(i) Researcher has to use facts and information
already available to make its appraisal.
(ii) Based on surveys and fast finding enquiries
about the state of affairs exists or excited.
(ii1) Based on theoretical knowledge and the
logical process involved in the phenomenon.
(iv) Appligation of known theories and models in
the actual operational field.

Code -

(1) (a)-i, (b)-ii, (c)-iii, (d)-iv
(2) (a)-ii, (b)-iv, (c)-i, (d)-iii
(3) (a)-ii, (b)-iil, (c)-iv, (d)-

 (4) (a)-iv, (b)-ii, (e)-iii, (d)-i

(5) Question not attempied

98. FfyweE (A) — T Wil B9 e & @ o

Areremdl ufwE A anrm wew
r e &
TRYT (R) — SR awedl #1 aa@d) qfi ©
TR oy Bfd A @ i e gmee
& FM-gel IRl & waME we § sl
vt B &)
AN (A) wEa & AR (R) 3T B

@)wmm 2t w5 & &R (R), (A) T @)

TR R @l B

(3) (A) 3™ (R) o1 o9 £ 3R (R), (A) o1 58
TR HI B

(4) (A) 35T &, AT (R) #ew 81

(5) srgaRa wed

9. i1 &1 go-11 9§ fam &3 e |a By ae

&1 G B Wel IR dIg —
-1
(¥irr @7 W)

(@) avisTeT SERA

(@) s s

(W) Rvemoess T

(&) i s
-1

s (5TE)

i) vEEal $ §E qeuied g Ued A @
Qucer et UF GET @ WA S YEd|
2

(it) T #F a1 o # sifaw § @ m@a @
R # | wen weAi & @ Hael oniw ue
amenRie |

(i) e wemmrm A FAftg @ifds oo v

Hgifte 9 R i |
(iv) el ST A sa fagiel g Hisel @) v
T | ;

'.Eg —

() (@i, (@)-i, (5)-ii, (@)-iv
(@) (@1)-ii, @)-iv, (7)-i, (@)-ii
(3) (@1)-id, (@)-iii, ()-iv. (@)-i

1 ) (@n)-iv, (@)-i, (9)-iii, (@)-

&Iﬂ:ﬂﬁﬁﬂm
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100. Consider the following statements regarding
features of Administrative Tribunals.

(i) Administrative tribunals are created by a

statute. .
(it) All of them perform purely administrative
functions,
(iii) They are bound by evidence prescribed h_v
Civil Procedure Code.
Select the correct statement/s from the code given
below — %
Code -
(1) (i) and (ii) only (2) (i1) only
(3) (i) only (4) (ii) and (iii) only

(5) Question not attempted

10%. Consider the following statement/s regarding
Administration Man Model —
(i) Normative in nature
{ii) Optimal decisions
(iii) Search for seemingly feasible alternative
Choose the incorrect statement/s from the
following code -
(1) (i) only (2) (i) only
(3) (i) and (iii) only (4) (1) and (ii) only
(5) Question not attempted

102. Administrative development does not involve
which of the following?
(1) Professionalisation of administrative personnel
(2) Quantitative and qualitative changes in

bureaucratic policies and programmes

(3) Dynamic  organisation  and  resource
management

(4) Action oriented, goal-oriented administrative
system

(5) Question not attempted
103. Which of the following is not a factor to determine

the size of sample by a researcher?

(1) Type of sampling

(2) Nature of universe

(3) Availability of computers

(4) Availability of money

(5) Question not attempted

100. gy =rfersver & AdweRl @ GdfE

Frsiferftas so+ o fem #if

(iy wowfE e ue |l ger T
A #

(i) 9 @i fyg wu & voafs s e ¥

(iiiy 9 RafAa ofvm wifgw v Feife @ @
CERA

ﬁwﬁlﬁamﬁﬂﬂﬁm;mﬁaﬁw

m aﬁr-l (i) 74 (ii) (2) Fae (i)
(3) Fa (i) (4) Fas (i) vd (iii)
(5) srqaRa uw

101. yefaas W+ sdfee & g § P el @
e #Hifry —

(i) Famam gy

(ii) g=am Moy

(iii) Trfad w0 ¥ oyaered feeg & @
=1 @z A 91 arae Al @1 g9 S -
(1) @3 (i) (2) e (i)

‘_131 @dd (i) 79 (iii) (8) Sae (i) va (i)

%{ﬂiﬂﬂﬁﬁﬂm
-yorafe e 4 frafafea 4 9 a0 ofte

TE 87
(1) wemrafies wifdel &1 aauar
(2) Awvemdt @ ARl ot sEdwE § T
LGRS G IEE G |
(3) nfayefrer Tma=t afiR wwmrF waes
(4) BrtE, aeiE gmae aEwen
(5) srf=iia weA
103. f&xft sl g witesl @ e & fAuifa
wv & fore Ffafae & @ S s =8t &7
(1) ufrgst @& R
(2) wafie @ uwfy
(3) Fvagesi 9 IuciErn

@ (4) g9 1 SuwEmEn
= (8) R uw

"37-0
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104. Consider the following statement/s regarding 104 fiwell 1 siavyea) ver®s fGad | Tt

Maslow's Need Heirarchy Theory — Frfaftan sul w faar S —
(1) Cognitive approach to motivation. (i) ST Fagia 1 HsHID SHH |
(ii) ~Social needs precede esteem needs. (i) wrnforE arETgmar W 9 STyl
(iii) It explains human behaviour in terms of need W ugel Sl §)
fulfilment. ey i) WE w9 @ Hol # G AEER
Choose the correct statement/s from the followi @ TR FE E |
o P et e § 6 WA U/ mue B age -
(1) (i) and (iii) only (2) (1), (ii) and (iii) (1) e (i) T (iii) (2) (i), (i) T (iii)
(3) (ii) and (iii) only  (4) (i) and (ii) only (3) Tad (i) T4 (i) (4) Bae (i) vF (i)
(8) Question not attempted (8) sl we '
105. Which of the following pair of personality traits  105. Fyeifaifam # & @1 g @il # urg o arel
found in leaders is not correctly matched? oifdeea i @ fawa # @ wafea 76 27
(1) Self-confidence — Dominance - A1) sriRER - wE
{2) Human Relations — Faimness (2) 5r/a W — foroemn
(3) Intelligence — Diplomacy (3) difggenar — wmefa
(4) Supervisory capabilities — Inner Motivation (8) i apred — SRS aiYRen
(5) Question not altempted (5) srgafta we
106. The book titled “Towards A New Public 108."zgdw ¢ =y uficrs ysfafrgy @ ¢ s
Edﬂr;a;ﬁt;ﬂmm : The Minnowbrook Perspective” witfes TEe e g T @ T #
(1) Frank ]:'lmm ~ (2) Dwight Waldo (1) e =ifeAT (2) Samge e
(3) C.J. Charlesworth  (4) J. M. Pfiffner _ (3) ¥ro1 arcead (4) oLuw. e
(5) Question not attempted LN (8) i wE
107. Which of the following is not needed in order t S L e (ECE e o B G G R L
enahlt:‘ Er&rn]}le to enjoy the benefits of Brerifa & 9§ g1 aavas T8 87
globalisation?
(1) Develop Human Resource Capacity (1) 717 XiEwE @ A e
(2) Technological adequacy (2) sitenfirest <1 gafwrer
(3) Centralisation of power (3) wifeer 1 BHHIO
(4) Strengthening of institutions (4) wwerait @1 aefEEHw
(5) Question not attempled (5) argmifa we
108. Which of the following is not a feature of ‘Rule of ~ 108. fwifeif¥an # © @Rl fafy & wes &) e
Law'? a8 27
(1) ;ﬁ.h:calute supremacy of the ordinary law of the (1) 2w & wary AR @) ol et
an
(2) Special protection for the state and state (e i won o aRmina 2 B el

e sear A e e

officials in their official capacity i M. : '
(3) Equality before law for both the officials (3) arferpiival afe Ax—siferefat @t @ forg faf
non-officials @ W R |
() Primacy of the rights of the individuals (4) efaert & PRl B agE
(5) Question not attempted (8) sl oA
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109. Who among the following had referred to the
Indian Civil Service as the *Steel frame'?
(1) Sir Winston Churchill
(2) Neville Chamberlain
(3) James Ramsay MacDonald
(4) David Lloyd George
(5) Question not attempted
110. Agsertion (A) — Weber treated administrative
systems as ‘steady state’ system.
Reason (R) — Elements of Weber's legal rational
authority dominate in Riggs's fused society.
(1) Both (A) and (R) is correct but (R) is not the
correct explanation of (A).
(2) (A)is true and (R) is false.
(3) (A) is false and (R) is true,
(4) Both (A) and (R) is correct and (R) is the
correct explanation of (A).
(5) Question not attempted
111. Arrange the followings steps in proper sequence in
the policy formulation process -
(a) Identifying public problems
(b) Making policy decisions
(c) Formulating policy proposals to deal with
problem
(d) Putting public problems on policy agenda
Choose the correct answer from the code given

below -
(1 abdc (2) a.d,c.b
(3)a,b,c,d (4)a, ¢ d b

(5) Question not attempted
112. Which of the following Principles of Scientific

Management is NOT suggested by F.W. Taylor?

_{1) Development of Science
(2) Development of each man to the fullest extent
(3) Discard rather than Harmony
(4) Cooperation rather than individualism
(5) Question not attempied

109. syerityy fofde &4 &1 = § @ fsws gell
giar & w9 # wega e
(1) w% s gf¥a
(2) wfas =@=ve
(3) 5= Y AFeEree
(4) sfas wfgs st

Fﬁ' 415 SR v
(A) — 9ax 7 wonwta g & ‘Rew

Iy R /AT E |
FRU (R) — W @ & Rawgf uiteRr @ o
1 & ugos WA @ Wi v § |

(M (A) @ (R) BT @& & wd (R), (A) B G
T FE P & |
(2) (A) W€l & ©d (R) 7Teid 2 |
(3) (A) TTeTa & Ud (R) wel €|
(4) (A) Td (R) S Wl & TT (R). (A) @ W
TATET Yl 2 |
(8) sl e
M.y Fwior 9 wafem w=oi & 98 sfhea §
Fraiver Hifow —
1L Ka) i wERE @) ugE
by i Pl w5
(c) TR &1 O Fe @ fere i st @
oo
(d) s waeEmel @ AR farh sefkgd §
RiCril
A v FHe &1 v R g 9E 9 % 9
AT —

(1) a.b.dc (2) a,d,c, b
(3) a, b,c. d (4) a,c.d, b
(8) srale W

N2 fm § & g dsnfe weu @ ek
U ey, So A T8 g

(1) fasrt &1 s
.éﬂmwﬁﬁwmﬂqm
13) wherd @ W W e

4) @ifthare & I TR HEHINl

(5) sreilRe weA

il
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113. Choose the option from below which is not a
dimension of good governance as defined by the
World Bank -
(1) Public Sector Management
(2) Information and transparency
(3) Accountability
(4) Social Audit
(5) Question not attempted

114. Maich List-I with List-IT and give correct answer

by using the code given below -
List-I List-11
(Books) (Thinkers)
(A) Dynamic Administration (i) Rensis Likert
(B) The Elements of (ii) Chris Argyris
Administration
{C) Public Administration (iii) Herbert Simon

(D) New ways of Managing  (iv) L.F. Urwick

Conflict
(v) M.P. Follett
(1) (A)-(iv), (B)-{it1), (C)-(v), (D)-(ii)
(2) (A)-(v), (B)=(iv), (C)=(iii), (D)-(i)
(3) (A)-(1), (B)-(ii), (C)-(iii), (D)-(iv)
(4) (A)-(i1), (B)-(iv), (C)-(iii), (D)-(v)
(5) Question not attempted

115. Arrange the following experiments of Elton
in a chronological order - ="
(A) Human Relations and Sentiments pau
(B) The First Inquiry

(C) Social Organisation

(D) The Great Ilmmination

Select the cormect code -

(1)B,D,A,C (2) B,D,C. A
(3) D,B,A,C (4)D,B,C, A
(5) Question not atterpted

116. From the following, choose the pattern of formal
communication which is democratic and where
any member could communicated with any other
member -

(1) Circle network
(3) Star network

(2) Chain network
(4) Wheel network

(5) Question not attempted 3
117. Which of the following pair is not eclly
matched? -

(1) Unity of direction — Henri Fayol

(2) Zone of Acceptance — McGregor

(3) Zone of Indifference — Chester Barnard
(4) Situational Authority - MLP. Follett

(5) Question not attempted

3.1 % 9 a8 e g+d o e & g @

T GErEA @ uRdrT &1 s T8 g -
(1) wrdwfie & waas
(2) e 4 gEfE
(3) Sovarim
(4) Trarfores afden
(8) argeifta u
M4 gdi—1 &1 i1l & wer 98 e $ifse -
) =
(A) s vefafrgem (i) R foed
(B) T yferi=w aife (ii) frr anfiffRwr
vefAfAEE
(C) ufesrs vsfafege (iii) B4 ATEHA
(D) =1 991 @16 Ffe (iv) e, Sfd®
DiATeae o
(v) T BeE

(1) (A)-(iv). (B)-(iii), (C)-(v), (D)-(ii)
(2) (A)-(v), (B)-(iv), (C)=(iii), (D)-(i)
(3) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
(4) (A)-(i1), (B)-(iv), (C)-(iii), (D)-(v)
(5) sl wes

5. vees 31 & F=ifafaa vt &1 sergsie
w9 H agferg &y —
(A) I ey afte wraerd
(B) wery wirg
(C) W wsA
(D) TTE AT
WE T T GuH BT —
(1) B.D, A.C (2) B,D.C,
(3) D,B, A C (4) D,B,C,
(5) srmiRe geA

116. F=ferfan sitvaRe waw et 4 9 99 909
wiforg, o dimaiEe & 3w wE oY f gew
e o Wew ¥ WuN o 96T § —

A
A

(1) g eod (2) sien ead
(3) R eaw (@) o Fead
(8) argeife wea

7. f=fafas 4 9 s = wé gafea 76 287
(1) s @ gwar — &8 B
(2) =il &1 89 — #EIN
(3) SEreiivaT @1 &= — HeY A e
(4) Ruftem it — wdl. wele

(8) argafta we

37-0

Page 25 of 32




118. Which of the following pairs of (Scholars and
Books written by them) are correctly matched?
(A) Lucian Pye — Administrative Reform
(B) Fred Riggs — Frontiers of Development

Administrution
(C) Gerald Caiden — Aspects of Political
Development
(D) Michael Crozier — The Bureaucratic
Phenomenon
Select the correct code -
Code -
(1) Aand D (2) Aand C
(3) Band C (4) B and D

(5) Question not attempted

119. Which of the following statement is not correct
regarding the ‘recruitment from within' in an
organisation?
(1) It encourages lateral entry.
(2) It provides the employees with ample

: opportunities for advancement.
(3) It provides incentive to the employees to work
well.

mediocres.

(5) Question not attempted

120. Which one of the following statement is not correct

regarding Multi-stage sampling?

(1) It is easier (o manage.

(2) Sampling frame is developed in partial units.

(3) It is a further development of systematic
sampling.

(4) It is applied to big inguiries extending to a
considerable large geographical area.

(5) Question not attempted

121. Which of the following is not the method of
Research?
(1} Survey method (2) Literary method
(3) Historical method  (4) Evolutionary method
(5) Question not attempted

122. Who from the following advocated the Political
Policy Process Approach?
(1) Thomas Dye (2) Laurence Lynn
(3) Yehezkel Dror (4) Amitai Etzioni
(5) Question not attempted

123. Which of the following is not the approach 1o
decentralisation as identified by James Fesler?
(1) Doctrinal Approach (2) Political Approach

(3) Conceptual (4) Dual role Approach
Approach
(5) Question not attempted

118, FreferfRes ¥ (Rari 7 S qel) @ @

I | gfera &7
(A) FRITA 918 — 9eTHS e

(B) we v — wiegd oiie Saawe
'lpilii

Gt
(C) e $84 — ATdeH T JaoTie
(D) FEHE HIAI — § a{a’ﬁiﬁ i
TE W B TIT DI —
@'_
(1) Ad=n D
(3) B w=n C

(5) argaifve wes

119, Fras 4 fae 3 vl & e § Fresfafeg e
# By | wE &7
(1) 7E uTed wa91 & ueAed & 8
mg‘sﬁrﬁaﬁaﬁm%a%wmmmﬁr

r
m}g?ﬁﬂﬂmmmémm
|

(2) A e C
() Ba=nD

(#) It values experience, thus may favour nﬁ @ ggrr m,rli E:.;—F F azi;fﬁg;:mﬁﬁﬁ
2.4

(5) srgaifa wes
120. gg—awvnoRd Wiowds & Hed A fafaiaa 4 |
wU HE AR 57
(1) 39 wafte & anar 81
(2) wfterm= s @ ¥ seEa 9 sl
fara wimaT 2
(3) 7z =afhsa ufoags & oF i fem &)
(4) 59 Ht g8 Wifers &e a9 Bol a8 eI

% S @ e 8 )
(8) srgeia we
121, fyforfiaa & 9 @19 oiw ot (AR 58 &
(1) wd faf (2) wiefeas faf
(3) tfoeifes R (9) fmraard faf
(8) srgwifie we
122. ffoflaa & @ fees worfifas Aify afe
o7 @ e e
(1) =i =8 (2) == ferm
(3) Fewde §R (4) sifyerg ey
(5) st weA
123. fy=fofaa 3 o e & sa R
@1 S gftesr T8 &7
(1) dzifae ghesr (2 yohifte sfesm
(3) dmiive giemior  (4) wied GFST gRem
(8) srefer yw
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124. Who has given the ‘Black Box’ model of policy

making?

(1) Lindblom (2) Lasswell

(3) Easton (4) Riggs .

(5) Question not attempted ‘_@
125. Which one of following is correct about gerie

management orientation of classical approach 1o

public administration?

(1) Use of traditional methods in organisation
working

(2} Concern for human being as centre of analysis

(3) Application of the techniques of private
management in public sector

(4) Emphasis on decentralisation of executive
functions

(5) Question not attempted

126. Which of the following is not true regarding

systems theory of administration?

(1) Views organisation as an adaptive system.

(2) System’s  viewpoint is muiti-level and
probabilistic.

(3) Organisation structures develop around
pattern activities. %
" is

(4) Organisational systems are cybernetic.
(5) Question not attempted

127. Who said that, “Without administration,

government would be a discussion club, if indeed,
it could exist at all.”™?

(1) Dwight Waldo (2) Woodrow Wilson

(3) Luther Gulick (4) Paul H. Appleby

(8) Question not atiempted

128. Which of the following is not a merit of the

interview method of data collection?

(1) Personal information can as well be obtained
easily under this method.

(2) More information and that too in greater depth
can be obtained.

(3) The presence of the interviewer on the spot may
over-stimulate the respondent.

(4) Interviewer can  collect  suppleme
information. e

(5) Question not attempted

129. Which of the following is not a characteristic of

development administration?

(1) Time oriented (2) Client oriented

(3) Change oriented (4) Non-Ecological
oriented

(5) Question not atlempied

124. iy Fmior @1 @ dfew dise fees R 27

(1) fereeaiin (2) e
(3) g (4) 7
(5) SrqeifRe wesr

A28, Hiw weTeE & aE {ﬁ#ﬁm}mﬁm

FUNTH & 4R H BETH TS TE 87

(1) wwres @ral # uweRmTg ugfa @ g
(2) Rreetyw & &g d wear far

(3) warerera Tl &1 AEdGEE e §
(4) wrivifernT sl & fAdsaw w @GN

(5) argafea we

126. fy=ifeifae 91 w9 wemes & faey fagim

H W | Tl el 87

(1) |75 B IFETHRA OF S B9 7w &

{ﬂ@mmmwmwm

|

(3) wrew wraa -ges nfafafet & sd-fMd
fmfae Bt &)

(4) wreATHE wonferdl wgavHes gl €|

(5) srefe uw=

127. 5w wet en (%, uanas & fasn aven va a4l

aod g1, afe area o sae aiffaw w7

(1) genge ares) (2) g&d e
(3) er Tferm (4) dfer wa. Uarerl
(5) srgafe ye :

128. 59 5 9 S99 OHSG GUET & "Emeer G

@1 o el 87

(M) g0 fAfy & gm affra yaaw et 9§
Wi @) W ) & |

(2) sreaferes wa=mg a1 i qgd TEFA @ Wy g
] W g &

(3) wemespREal @ SH WA W Iuled
FevaTael B Ffte Iafod v odl 2
lﬂigﬂmﬁﬂﬁﬁ?ww’wﬁamm

|

(8) argeiiva weA

129. 7 9 91 @l fAora wemeE @ e =
87
(1) w9a S (2) wEd S
(3) uftgds =y (4) Te—wiifRerfe a=
(8) arefta we
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130.

131,

132

133.

Who is the disciplinary authority in respect of All
India Services?

(1) Governor of the(2) Cabinet  Secretary

_concerned state Govt. of India
(3) President (4) Prime Minister
(5) Question not attempted
The Existence, Relatedness and Growth (ERG)
Theory of Clayton Alderfer is closely related to
which of the following theories?

(1) Theory x and y

(2) Hygiene and Motivation Theory

{3) Achievement Motivation Theory

(4) Need Hierarchy Theory

(5) Question not attempted

Which of the following is correct regarding
coordination? Select the correct answer by using
the code given below -

() It avoids duplicacy in work.
(b} It ensures harmonious relations among various

units to achieve common goals.
(¢) It ascertains that no important work ﬁ

unattended. a.d
(d) It is primarily voluntary in nature.

Code -
(1) a,b,c,d (2) a, b, d
Habc (4) b, c,d

(5) Question not attempted

Who has written the book 'The Structure of
Scientific Revolutions'?

(1) Auguste Comte (2) Thomas Kuhn

(3) Karl Marx {(4) Emile Durkheim

(5) Question not attempted

130. siffge WA Fawil & HeW A SIuTEe®

Wit HF & &7

ﬂ}i‘iifaﬂ g @) ARG SR @l
Hfamved g

{3}?T!§;‘tlﬁl (4) werT=ieE

(8) armiRa e

(1) x w2 y Figia

(2) IR Ter San faga
(3) suafer somy fagmE
(4) Srazasal v i
(5) aofte wes

132 gy & ey # Fsfofaa 4 9 a7 w8 &7

¥4 Ry w0 @e &1 W eYe wél 9OY B 999

aiforg —

(a1) wg @rd H Seva § qEnn 2|

(@) Wﬂmaﬁffaﬁma@mﬁﬁﬁ
Wlﬁ?lg ey wWewg wae g
Yl £ |

{H}Hsgﬁrﬁaﬂmﬁ fi @18 0 wewgf @Y

&% fasn =1 w @i |
G)ﬂ'ﬁmﬂﬁ'awﬁmn?ﬁwg&mm
W_

Ma, a9 3 (a9 7
33 a9 (4) 9, ¥ <
{Elaﬁﬂﬁﬂm
138.7 waw offn OERfre Rawgew ges
fwe g foredy i &2
(1) i @fe (2) eifi 8
(3) wret wrad (4) vfie gdiiF
(5) srpafva uw

134 Which of the following is NOT a method of 134. F=feifam # 9 &l & wufe smaR—wnf
collecting primary data? UEs HI D GG TR BY
(1) Observation (2) Website visit (1) sraera= (2) gwrge ga@=T
(3} Schedule (4) Interview (3) srge=n (4) TP
(5) Question not attempted (8) sraifte wea
135. What is correct regarding line-item Budgeting? 135. @inds—angey awifen & fawy # @ w& 87 9
Select correct answer from the code given below — Ry ®e &1 9AT @Y el SaN &l 94T Hifere—
a. It is called traditional Budgeting, . §H TUHIETA IUfer HEl e €|
b. It emphasises on purpose of expenditure. -~ iﬂ'ﬁﬁ'ﬁfﬂﬁﬁﬁﬁﬁmﬂﬁ?ﬂmﬁl
¢. The w:ﬂ: of appropriation of ex w o w@d ® fafan & o1 Vel )
remains there. e Fwife
d. It is also known as incremental budgeting % & 2| T TG A S
svstem.
Code - L :
(1) b,c,d (2) a,b. c Ma w3 (2= 7 %
(3) a,d (4) a,b,d (3) 31 = @4) 3 9 7
{5) Question not attempted (8) rgafa we
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136. The concept of Zone of Indifference is concerned
with which of the following?
(1) Authority (2) Coordination
(3) Communication (4) Decision Making
(5) Question not attempted

136. geriieen &1 &= @ suwv B § 9 e
wHafea &7
(1) wiferemm (2) v

(4) Fivfg Fmior

(3) ¥
ﬁ (5) arqaia ue
137. Which one of following concept is reflected in the 197 "Seii B 5 Siegarall 4, 941 89 e <& ¢ (&

statement, “In our rush to steer, are we forgetting
who owns the boat™?
(1) Neomanagerialism (2) New Public Service
(3) Global Governance (4) New Public
Governance

(8) Question not attempted

138. E M. Frohock mentioned four concepts related to
criteria for policy evaluation. Which of the
following is not one of them?
(1) Equity (2) Pareto Optimality
(3) Public interest (4) Adequacy
(5) Question not attempted

139. Which one of the following is considered by
Bhimrao Ambedkar as the basis of governance?
(1) Traditional morality (2) Legal morality
(3) Religious morality (4) Constitutional

morality

(5) Question not attempted

140. Which of the following pair of functional analysis
of Public Policy is not correctly matched?
(1) Invocation- Consistency of given behaviour to

that of Rule of Law and demands application of

s LK

rules.
(2) Intelligence — How the information on policy
matter is gathered and processed.

(3) Prescription — How are general rules adopted or
enacted and by whom?

(4) Appraisal — Operation of policy on its success
or failure basis.

(5) Question not attempted

141. Which of the following is not correct regarding

delegation?

(1) It gives recognition to the subordinates. :

(2) It motivates the subordinates for be
performance

(3) It slows down decision making in the
organisation.

(4) It provides job satisfaction to the subordinates.

(5) Question not attempted

19 @1 wifee ®F & 4 wuE FEfefaa 9 9

frw sraenvon & afefaffan s &7

(1) ave=Eas (2) Facts Har

(3) #f¥aw s (4) =18 el e
(5) argafa e

138. o, et 3 MR geuida & srge A i
AR FAENNE ® Ieord e 8 | a8 FralEfaa
# B T &7

(1) e (2) qRer g=waT
(3) wrewe faa (4) quiemm
(8) sl we

139. iyt & 9 S99 U B WA FESEHET S 0T
W HER JHT &7

(1) semRrTe Afwa () S i
(3) enfife Aferaan (8) wfaenfres Al
(5) st we

0.5 A & oafew e & wafd
Frafoftan & & o9 g= wd gafem «@ &7
(1) smgaE — Feifta @eer @ @[ % weE e
B & AT BN DI A1 B Ard Gei |

(2) difgsa — iftrra Apl w ga fBa e
UHET 3N wafa @1 e 2

(3) fPrefvor — s Faw Bas g sl 9
STHHIE 47 91T W 87

(4) weften — Hfe 1 Twerar sk fwerm & R
TR qRETe & |

(5) armiRe o

141-Wﬁﬁﬁwmﬁﬁﬂﬁ?r€i
(1) wE el w1 A= &6 8
(2) @ Wit & FEaw yeeE @ faw ufa @

e 2

(3) g8 wwew ¥ fvfa o @t o & 2 7
(4) wg apfrreell & H1d Hafte gam @ €|
(8) argeila W
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142. What is comrect regarding Auditing? Select correct  142. gier & fawn § @ W&l 87 A9 Ry @ @

answer by using code given below - W ?ﬁ“ﬁﬁ Lkl SR B T DTy —
a. It makes Parliamentary democracy accountable. 3, WB HHSA WA B Savard a A & |
b. As a tool of the Legislative control over 4. WS W e FEEe #1 w [Sume
execulive. T é | ol ) _
c. Justifies the accounts with respect Lo H m:_ aﬁ;;ﬂﬂm?ﬂﬂ;f':m & aftie 3 ot
categorisation of income and expenditure. Brfov 5 Braf
d. Controls misappropriations and leakages of % %ﬁ 3 T
funds. e —
Code -
1) a9 9, 2) 49, ¥,
(1) a,b,c,d (2 b,c,d S i 5 il
(3) a. b (%) a, b, ¢ ! "
(5) Question not attempted (5) 317 =
143. Who criticised Riggsian model as equilibium  143. f5ea R @ sifse @) wges sifser & w7 4
model? TG PP
(1) Hahn Been Lee (2) David Apter (1) g §= (2) sfas vex
(3) J. M. Gaus (4) Nimrod Raphaeli (3) wiuw. WTE (4) FErE e
(5) Question not attempted (8) SRR 9
144. Which of the following is not correct regarding Job  144. & Wl & waw 9 F=ifafis 7 9 S w8
Enrichment? TEl 87
(1) It increases individual employees’ freedom. (1) 7 afdrra SHaial @) @oaa & e
(2) Evaluation of work. i!pj
Sl 7 i . : ﬁ 2) B T
(3) It is horizontal expansion of job that increas (
number and vaﬁ;f;f tasks :il'l individual cafi+11 @) %ﬁ%ﬁ;ﬁ E Eﬁ!?:ﬁ” j % Ty E sl 3#? 5 ﬁl Al E‘g
perform. agra 2
(4) 1t enhances his sense of responsibility. (4) 7 9wl fomEi & wraen &1 qerar &
(5) Question not attempted (5) srgoiida weA

145. Which one of the following is not included as a 145. 9y TR, Eovww gw1 f=feag d 9 @9
perspective of comparative public administration qoe® die WeTEd @ qRer & W 4 mibd

by Keith M. Henderson? el farar Ty 87

(1) General system model building approach (1) wrr= womrelt disw FMafor g
(2) Component approach (2) wem gitemor

(3) Bureaucratic system approach (3) Sirmvendl womel gitedm

(4) Input-output system approach (4) FTqe—argeye womel gt

(5) Question not attempted (5) arafa we

146. “Fiscal management includes those operationgs Tra@ waaE | 4 @ miEe & o st
designed to make funds available to officials and """ 1 € SUGE B IR TP IR B

to ensure their lawful and efficient use.’ To whom Gtm\m @l gfad & & foy %ﬁ;ﬁ f g
is this statement attributed? g1 48 @ fwa g Rar war &

(1) Kautilya (2) Aaron Wildavsky (1) wifesn (2) Wi argosavat
(3) L.D. White (4) G.S. Lal (3) va ) =Ee (4) Show. e
(5) Question not attempted (5) sraifRa wes
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147. Who from the following made a comparison

147. Fp=ferfea A & fem ot fiewmr sk faem

between ‘rich  bureaucracies’ and ‘poor TR ey qe & 2

bureaucracies’?

(1) Nicholas Henry (2) Dwight Waldo : (1) Fraprers & (2) garge arser

(3) Robert T. (4) Robert Fried (3) Ve & MEAfaaE (4) Fad wise
Golembiewski Ll

(5) Question not attempied (5) argeiiva wee

148. Which of the following statement is incorrect about
Administrative Tribunals?
(1) These perform quasi judicial functions.
(2) These courts ensure specialization in justice
delivery.
(3) They are bound by rules of evidence similar to
ordinary courts.
- (4) They follow the principle of natural justice in
Jjudicial decisions.
(5) Question not attempted
149. Agsertion (A) :  Effectiveness of training is
significantly increased if the
monitoring and evaluation of
raining programmes
systematically undertaken. 4
Reasons (R) : In the era of globalisation and-"#
competition training cannot remain an act of faith.
It needs to demonstrate the return on investment.
(1) (A) is wrong and (R) is right.
{2) Both (A) and (R) are correct but (R) is not the
correct explanation of (A).
(3) (A) is right and (R) is wrong.
(4) Both (A) and (R) are correct and (R) is
explanation of (A).
(5) Question not attempted

150. What is correct regarding Span of Control? Give
answer by using the code given below -
(a) It owes its origin in Military.
(b) Sir lan Hamilton coined this term in the UK.
(c) It assumes that supervisors possess infinite
guantum of time, energy and attention to devole
to their jobs.

(d) It determines the number of levels between t@

leader and the subordinates in an organisation®* '
Code -
(1) a,b,c.d (2) a, b, c
(3) b, c,d (4) a,b.d
(5) Question not attempted
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